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2-5. BRI E4aZ2 SitRTIZ B AR

HUIA B2 |o)=R

A REIFXSEEMMER, FREAEREFIZTEHN ( ZRE%ENEE ), SENETHESRE
FEINHEESE BIAARINESTRNMEEMAZSTENLERIZTIR BRIFMReceiver Tank
Air Drain Trap\ Control Valve, BRESBRE EZES[EEBRIMFMALRE SRESEAENAEFEI
IR,

X EAREStRFE(V)
0376 ACP

V (L/min) = y X T (%)

(mn)

a2
IS EE AR 4
P 4#833EF] P +1.0332(kgf/ont abs)
C 1 RERE 100(%)
T BXNEE  (t+273)
YV EREE 12(kg/m - at 20°C

Tank Drain Trap [ Drain Trap




2-5. Bt ERES BT LB

X BRESMREFENEITE ()
P (kW/h) =V x FE4BEEREE (KWh/m3)
= 22.92(N m#h) x 01097 (KWh/m?)
=2.51(kw/h)
VSRR (mi/h)
EEAALEREE (KWh/m') @ #IR0.1097
Z. WERR
B LA FRAIE D HITERE, RAREMEDRSE IREZSEEINNEGITR MmBER
EUHRINER,

Bt PBEFESEA ENAIAIE ( Over-haul ) RAGIQREIHALRGIEERE BN EIREE(STNEE FFF
HJAIr Drain Trap&Control Valve BHH B a8 R E 48 = S P imEEX
A EMANEEESEESIRESEEBON BT HERFFSEE URDRSEE,

Ui IRAT Air TrapZEfa M45 =

InQ ERAY

(RGNS

2 BREORK, BEMRD,
3AMTHERRE,

4 PIZLARBA R IIFRER,

b 4EFRIER,

[El2-2]& B3 Air Trap




2-5. @I BA L[+ 4528 ST 29 FE RE

=. FHARR

EEET Y= REH A
ELETA (]
1742.28 398.98 170.39 44.62 0.26 79853
(1) EERETN=E

I
0

198.89[kW/h] x 8 760[h/%#]
=1742 276.40[kWh/€] +1000[MWh/kWh]
=1742.28[MWh/%]
=1742 28[MWh/EE] x 0.229[toe/MWH]
= 398.98[toe/HF]

(2) FERBRETZIE
- EERRRETARKWN/E] x 2020 B A BHETT/KWN]

=1742 276 A0[KWh/E] x 97 8| ¥t /KWh]
=170.39[ B A&t/ E]

(3)18E %A : 44.62[BERET]

29 360,000 1050
| EmmR 40% 412

ait 4462

(4) ¥ O4HA
- BABRAERET] - FERATANERET/E]
= 44 62[ERFT] +170.30(BAET/F]
=0.26[#]

(5) mESMARHIE
- BRRBHER (to/F ) x ( ZEtHRATE /RO T2 )
=217 78(tC/%E) x(44/12)(CO2eq/C)
=798 53[tCO2eq/4]




